
DGfS-CL Fall S
hool 2011:Introdu
tion to Tree Adjoining GrammarExample for the TAG CYK AlgorithmTAG for the 
opy language:
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NA

a βb SNAb SS∗
NA

bParsing tra
e for input abab, using the CYK algorithm from the slides (only su

essful items):Item Rule1. [βb, 1⊤, 1,−,−, 2] Lex-s
an2. [βb, 22⊤, 3,−,−, 4] Lex-s
an3. [βb, 21⊤, 2, 2, 3, 3] foot-predi
t4. [βb, 2⊥, 2, 2, 3, 4] move-binary from 2. and 3.5. [βb, 2⊤, 2, 2, 3, 4] null-adjoin from 4.6. [βb, ε⊥, 1, 2, 3, 4] move-binary from 1. and 5.7. [βb, ε⊤, 1, 2, 3, 4] null-adjoin from 6.8. [βa, 1⊤, 0,−,−, 1] Lex-s
an9. [βa, 22⊤, 2,−,−, 3] Lex-s
an10. [βa, 21⊤, 2, 2, 2, 2] foot-predi
t11. [βa, 2⊥, 2, 2, 2, 3] move-binary from 9. and 10.12. [βa, 2⊤, 1, 2, 2, 4] adjoin from 7. and 11.13. [βa, ε⊥, 0, 2, 2, 4] move-binary from 8. and 12.14. [βa, ε⊤, 0, 2, 2, 4] null-adjoin from 13.15. [γ, 1⊤, 2,−,−, 2] Eps-s
an16. [γ, ε⊥, 2,−,−, 2] move-unary from 15.17. [γ, ε⊤, 0,−,−, 4] adjoin from 14. and 16.


